ols contamimmey

(. L !ﬂj}n!quﬁ(:_“Fw!::j.uw;‘h., contamed 1n

Then the closure

b. Union of all closed sets contained A

' 5 }

4 d. Unioi t sels containing in .

nuous functions
sum function f. Then
I f 1s discontinuous on some point o
" [a,b]
f may or n not be continuous on ol None of thes
)

la, b




‘converges uniformly to a real function f so that >
that |£,(x) = f(x)] < €, vn=m for
. "M depends on € and not on
£ xel[ayb]
d. None of these

ions such that lim,, ., f(x) = f(x),V x € [a,b] and

d. M,, is bounded for all n

ere f,(x) = x" defined on [0,1] is convergent to

b. f(x) =0, vx €[0,1]

L oo (0iFOSx<1

878 {1 ifx=1
functions where f,(x) = - x € R. The series
iy 1, x#0
' br@={y o







Marks : 50 5

¢. Define a metric d, on X by 5*2“"[‘; =
ey 2=10 E










